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 Capacidad parásita Tensión de brida Tensión de
 normal (pF) máx. (V) trabajo (V)

  @ I = 1 A 0,5 Vrms @ 1 KHz  @ I = 10 μA  @ 8/20 μS

 Capacidad parásita Tensión de brida Tensión de
 normal (pF) máx. (V) trabajo (V)

  @ I = 10 A 0,5 Vrms @ 1 KHz  @ I = 10 μA  @ 8/20 μS

o

 Capacidad parásita Tensión de brida Tensión de
 normal (pF) máx. (V) trabajo (V)

  @ I = 30 A 0,5 Vrms @ 1 KHz  @ I = 10 μA  @ 8/20 μS

 1750   7,5   3

 1250 13,5   5

   650 22,5 12

   430 33,5 18

   220 48,5 26

   200 51,5 30








